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= bil*EM

SNi(t)

ANi(t)

SNi(t)

EM(Y)

EA(t)

1, else O;

DMJj

1, else 0)
1, else 0)

(1997

i

DMP1;

(2000

DMP2j

a** b**
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/ '07 Feb R3 /

(©)

[ 3-2-2-1. ]
| || |
(MW) LNG (__Km) (GVA) (__km)
(1995) -173 -54 +0 +0 -894 +0.07 -1.70 -10.9
(2000) -221 +149 -1891 +0 +0 -0.84 -9.07 -8.54
-395 +95 -1891 +0 -894 -0.78 -10.8 -194
[ 3-2-2-2. ]
140, 108, R"2=0.1611)
al a2 aj/ a0( )
0.017 0.091 7619 -1335 9692 1568 -3595 1229 57.85 -6.670 -29.11 -2.829
(p ) (0.13) (0.14) (0.92) (0.86) (0.26) (0.04) (0.96) (0.10) (0.43) (0.93) (0.69) (0.96)
*% *
apj1/
7279 -8830 1287 -173.2 0.764 119.7 -66.65 2.170 17.06 0531
P ) (0.94) (0.93) (0.20) (0.08) (0.99) (0.22) (0.50) (0.98) (0.86) (1.00)
*
apj2/
-2514 2230 -1920 26.09 9.338 -2214 1121 10.73 7.908 -0.111
P ) (0.83) (0.85) (0.12) (0.83) (0.94) (0.06) (0.92) (0.93) (0.95) (0.99)
*
[ 3-2-2-3. ]
( 140, 108, R"2=0.094)
al a2 aj/ ao( )
-0.030 0.150 -70.55 3374 -181.0 1990 83.73 -65.61 3415 -41.81 26.99 3651
(p ) (018) (0.21) (0.62) (0.02) (0.27) (0.17) (0.54) (0.65) (0.81) (0.76) (0.85) (0.71)
**
apjl/
256.8 -3958 7279 6795 3421 -5123 -1.142 230.7 33.69 -38.38
P ) (0.18) (0.03) (0.70) (0.72) (0.07) (0.98) (1.00) (0.22) (0.86) (0.83)
*%* *
apj2/
-226.0 -48.16 6129 30.26 -464.4 3440 -75.70 -2285 1248 146.5
(P ) (0.32) (0.83) (0.01) (0.89) (0.04) (0.14) (0.74) (0.31) (0.58) (0.52)
** *%*
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(©)

[ 3-2-2-4. ]
( 140, 108, R"2=0.300)
al a2 aj/ ao( )
0.047 -0.208 -4.729 -59.84 3394 -8750 -12.62 -21.70 2.104 -29.69 1183 18.37
(p ) (0.00) (0.02) (0.96) (0.57) (0.78) (0.41) (0.90) (0.84) (0.98) (0.77) (0.91) (0.80)
**kk **
apjl/
0.457 69.55 -96.62 1104 -0.149 5166 -1.790 21.84 0.051 -12.30
P ) (1.00) (0.62) (0.49) (0.43) (1.00) (0.71) (0.99) (0.87) (1.00) (0.80)
apj2/
-9.461 -1095 37.03 -761.0 -306.2 -823.6 -9.905 -6.223 -14.41 3.891
P ) (0.95) (0.51) (0.83) (0.00) (0.06) (0.00) (0.95) (0.97) (0.93) (0.98)
**k*k * *k*k
[ 3-2-2-5. LNG ]
( 140, 108, RA2=0.174)
al a2 aj/ a0( )
-0.010 0.050 -2574 1681 6135 5203 -0.692 4036 170.7 -0.852 280.0 -0.803
(p ) (0.73) (0.76) (0.99) (0.39) (0.01) (0.01) (1.00) (0.04) (0.37) (1.00) (0.15) (1.00)
*k*k *k*k *%*
apjl/
-0.064 -167.3 3438 -35.01 0.094 -414.2 -174.4 -0.927 -286.6 0.202
(P ) (1.00) (0.52) (0.19) (0.89) (1.00) (0.11) (0.50) (1.00) (0.27) (1.00)
apj2/
2364 -4.050 -320.9 -4504 0.660 -3.480 2.457 1556 3.641 -0.054
P ) (0.99) (0.99) (0.33) (0.15) (1.00) (0.99) (0.99) (1.00) (0.99) (1.00)
[ 3-2-2-6. ]
( 140, 108, R"2=0.159)
al a2 aj/ a0( )
-0.022 0.080 79.22 93.25 859.3 1338 6699 2857 -5454 1106 286.7 -1.095
(p ) (0.41) (058) (0.65) (0.59) (0.00) (0.44) (0.69) (0.10) (0.97) (0.51) (0.10) (0.99)
*k*k *
apjl/
-83.09 -101.3 -893.8 -148.2 -67.70 -3035 -0.229 -113.2 -296.1 0.303
P ) (0.72) (0.66) (0.00) (0.52) (0.77) (0.19) (1.00) (0.62) (0.20) (1.00)
*kx
apj2/
3.084 2756 3589 1486 0.176 23.09 3.309 2024 4513 -0.085
P ) (0.99) (0.32) (0.90) (0.96) (1.00) (0.93) (0.99) (0.99) (0.99) (1.00)

- 31 -



/ '07 Feb R3 /

[ 3-2-2-7.

al a2 aj/

(

140,

(©)

108, R*2=0.337)

a0(

)

-0.011 0.001 117.0

2952 4825 2254 3400 1154 1829 1041 2543 2651

(p ) (0.48) (0.94) (0.24) (0.00) (0.00) (0.02) (0.72) (0.25) (0.06) (0.91) (0.01) (0.70)
**kk *kx ** * **
apjl/
-70.26 -89.77 3409 -35.19 -4455 56.28 13.30 54.04 -273.2 1540
P ) (0.60) (0.49) (0.01) (0.79) (0.73) (0.67) (0.92) (0.68) (0.04) (0.91)
** **
apj2/
-67.01 -1275 -8445 -136.0 5.815 -164.1 -87.53 -80.34 87.35 -3.670
P ) (0.67) (0.42) (0.00) (0.39) (0.97) (0.30) (0.58) (0.61) (0.58) (0.98)
*k*k
[ 3-2-2-8. ]
( 140, 108, R"2=0.570)
al a2 aj/ a0( )
0.115 -1.204 4918 2422 6869 3898 1105 3731 1611 5583 1872 230.1
(p ) (0.29) (0.04) (0.49) (0.00) (0.00) (0.00) (0.11) (0.00) (0.02) (0.41) (0.01) (0.63)
** **k*k *k*k *k*k *k*k *% *k*k
apjl/
-357.9 -634.1 -803.0 -1214 -298.3 -1701 -1112 -235.5 -442.0 -153.8
P ) (0.70) (0.49) (0.39) (0.19) (0.75) (0.07) (0.22) (0.80) (0.63) (0.87)
*
apj2/
2834 -1260 -4437 -2602 -676.5 -2027 -146.1 -328.2 -318.1 1484
P ) (0.80) (0.26) (0.00) (0.02) (0.54) (0.07) (0.90) (0.77) (0.77) (0.89)
*k*k *%* *
[ 3-2-2-9. ]
( 140, 108, R"2=0.885)
al a2 aj/ a0( )
0.222 -0.524 1960 5670 10790 6074 8926 4319 3375 1207 7728 633.9
(p ) (0.01) (0.24) (0.00) (0.00) (0.00) (0.00) (0.09) (0.00) (0.00) (0.02) (0.00) (0.09)
**k*k *k*k **k*k *k*k *kx * *k*k **k*k *%* *k*k *
apjl/
-1050 -1044 -3891 -2102 -342.2 -1158 -1843 -217.8 -3020 0.730
(P ) (0.15) (0.14) (0.00) (0.00) (0.63) (0.11) (0.01) (0.76) (0.00) (1.00)
*kx **k* ** **k*
apj2/
-395.8 -1325 -3240 -1644 -415.2 -1573 -883.1 -746.8 -2080 -222.8
P ) (0.64) (0.13) (0.00) (0.05) (0.63) (0.07) (0.30) (0.38) (0.02) (0.79)
*kx * * **
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(©)

[ 3-2-3-1. 1
(10 2000 ) | | || |
(1995) +74.3 -357.1 -207.7 +0.0 +0.0 -113.8 +19.8 -667.4
(2000) -144.7 -127.2 +0 -384.1 -174.2 -68.6 -63.1 -879.0
-704 -484.3 -207.7 -384.1 -174.2 -182.3 -43.3 -1546.3
[ 3-2-3-2. 1
( 140, 108, R"2=0.105)
bl b2 bj/ bO( )
-0.001 -0.001 11.05 2784 1088 69.11 1011 7288 2196 6.003 2553 16.72
(p ) (0.86) (0.92) (0.59) (0.45) (0.41) (0.25) (0.60) (0.29) (0.45) (0.75) (0.47) (0.89)
bpj1/
9942 -2760 74.31 -30.71 -3.865 13.74 -6.342 1433 5.779 0.313
P ) (0.66) (0.91) (0.03) (0.20) (0.86) (0.57) (0.78) (0.95) (0.80) (0.99)
*%*
bpj2/
-1558 0.794 -1005 -3.973 0.627 -44.19 3.180 0.458 -7.381 0.100
P ) (0.56) (0.98) (0.00) (0.88) (0.98) (0.10) (0.91) (0.99) (0.78) (1.00)
**k%* *
[ 3-2-3-3. 1
( 140, 108, R"2=0.359)
bl b2 bj/ bO( )
-0.010 0.042 -49.11 -83.60 -412.0 -96.81 -20.24 -206.6 -67.14 -47.38 -88.17 1.473
(p ) (0.28) (0.09) (0.26) (0.29) (0.14) (0.44) (0.62) (0.16) (0.45) (0.23) (0.24) (0.95)
*
bpj1/
-2454 -40.20 -129.1 -122.3 18.78 -105.7 66.25 4299 -51.77 -1483
P ) (0.61) (0.41) (0.07) (0.02) (0.69) (0.04) (0.17) (0.36) (0.30) (0.75)
* * %k **
bpj2/
2161 -69.33 8883 1251 -65.74 -48.19 -127.2 -5495 9.090 2951
(P ) (0.70) (0.22) (0.12) (0.82) (0.24) (0.39) (0.02) (0.33) (0.87) (0.60)
*%
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(©)

[ 3-2-3-4. ]
( 140, 108, R"2=0.176)
bl b2 bj/ bO( )
-0.088 0.015 2246 37.03 308.7 7437 3325 1621 1298 4384 9652 1.320
(p ) (0.48) (0.64) (0.70) (0.72) (0.40) (0.65) (0.54) (0.40) (0.87) (0.40) (0.33) (0.97)
bpjl/
-22.81 -34.38 -207.7 -41.27 -28.89 -94.35 -4.326 -28.25 -72.25 -0.277
P ) (0.72) (0.60) (0.03) (0.53) (0.64) (0.16) (0.95) (0.65) (0.27) (1.00)
bpj2/
-1.626 81.76 0.002 0605 2756 -4.994 7.381 -2573 7.427 -0.085
P ) (0.99) (0.28) (1.00) (0.99) (0.97) (0.95) (0.92) (0.97) (0.92) (1.00)
[ 3-2-3-5. ]
( 140, 108, R"2=0.694)
bl b2 bj/ bO( )
0.013 -0.024 19.06 73.73 2485 103.0 11.00 8459 3529 8.873 5940 7.133
(p ) (0.04) (0.14) (051) (0.16) (0.18) (0.22) (0.69) (0.38) (0.39) (0.74) (0.23) (0.67)
bpjl/
0954 4338 1807 30.89 -1.346 5157 2423 1420 -20.61 1.355
P ) (0.98) (0.89) (0.70) (0.36) (0.97) (0.11) (0.45) (0.65) (0.53) (0.97)
bpj2/
-5485 -32.19 -225.2 -89.60 -5.701 -69.33 -29.81 -25.03 9.264 -2.872
() (0.88) (0.40) (0.00) (0.02) (0.88) (0.07) (0.43) (0.51) (0.81) (0.94)
[ 3-2-3-6. 1
( 140, 108, R"2=0.682)
bl b2 bj/ bO( )
-0.011 -0.006 1190 45.36 1748 84.18 1515 87.44 3272 1163 4339 7.133
(p ) (0.64) (0.93) (0.30) (0.03) (0.02) (0.01) (0.16) (0.02) (0.04) (0.26) (0.03) (0.67)
bpjl/
-6.485 -10.82 7.259 -8.785 -2.755 5.181 -15.15 16.26 -16.44 -2.529
P ) (0.61) (0.40) (0.70) (0.51) (0.82) (0.70) (0.23) (0.19) (0.21) (0.84)
bpj2/
0.620 -8.701 -75.35 -32.07 -8.788 -41.35 -0.687 -25.38 8.224 0.649
P ) (0.97) (0.56) (0.00) (0.03) (0.55) (0.01) (0.96) (0.09) (0.58) (0.97)

**k*x

**k*
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(©)

[ 3-2-3-7. ]
( 140, 108, R"2=0.981)
bl b2 bj/ bO( )
-0.004 0.008 17.06 49.44 2317 7429 7950 100.8 4227 1432 56.74 5.763
(p ) (0.00) (0.01) (0.00) (0.00) (0.00) (0.00) (0.10) (0.00) (0.00) (0.00) (0.00) (0.06)
**kk ** **kk **kk *xk **k* **x **kk **kk **k* *
bpjl/
-7.458 -7976 -59.08 -8.278 -2.515 -16.02 -19.77 -2.803 -18.90 0.228
P ) (0.20) (0.18) (0.00) (0.17) (0.65) (0.01) (0.00) (0.62) (0.00) (0.97)
*kx **kx **kk **kx
bpj2/
0.156 -9.047 -23.45 -1490 -0.743 -30.22 -6.254 -1.475 -2.338 -0.441
P ) (0.98) (0.18) (0.00) (0.03) (0.91) (0.00) (0.35) (0.83) (0.73) (0.95)
*k*k *%* *k*k
[ 3-2-3-8. ]
( 140, 108, R"2=0.438)
bl b2 bj/ bO( )
-0.002 0.002 8.909 2142 70.26 40.24 5311 4241 2478 6.435 2797 2483
(p ) (0.10) (0.51) (0.10) (0.03) (0.04) (0.01) (0.28) (0.02) (0.00) (0.18) (0.00) (0.42)
* *%* ** **k*k ** **k*k *k*k
bpj1/
-7.291 -12.03 -16.41 -10.81 -2.830 -4.338 -11.94 -3.171 -11.88 0.157
P ) (0.21) (0.05) (0.06) (0.08) (0.61) (0.49) (0.04) (0.58) (0.05) (0.98)
** * ** **
bpj2/
0.203 19.75 7995 -6.449 3.184 -16.02 5666 0.059 2.883 -1.212
P ) (0.98) (0.00) (0.26) (0.34) (0.64) (0.16) (0.41) (0.99) (0.67) (0.86)
**k*k
[ 3-3-1-1. ]

MNi(t) = = ( i*ELil(t) +Z (Cii*DMJj) +Z (cpiil*DMP1j) +X (cpij2*DMP2j) +c0 +u

MNi(t) i (i I
ELil(t) i
DMJj i
DMP1j i
DMP2j i

**

u

I

|
] =1, else 0;

(1997 =1, else 0)
(2000 =1, else 0)
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(©)

[ 3-3-2-1. ) ]
(10 2000 ) | || || |
(1995) -50 -1558  +00 -212 -19.0 -981  -27 +528 -249.1
(2000) -305 -121.8 +0.0 -122 -475 -1149 +139 -66.3 -379.2
-355 -277.6 +0.0 -334 -665 -2129 +112 -135 -6283
[ 3-3-2-2. ]
( 135, 106, R"2=0.979)
0.008 0.003
P ) (0.00) (0.08)
*kk *
ci/ 0( )
-2.347 6.956 -2.053 -2.989 -0.122 0.897 -3.450 -3.472 6.220
P ) (0.14) (0.00) (0.60) (0.13) (0.92) (0.81) (0.01) (0.03) (0.00)
* k% * k% ** *%x%*
cpj1/
0.342 -1.947 -2502 3.884 0.040 -5.811 -3.094 0.132 -0.007
P ) (0.84) (0.24) (0.18) (0.04) (0.98) (0.00) (0.07) (0.94) (1.00)
*% **k%* * *%x
cpj2/
-1.938 -1.106 -8.204 -7.852 -1.333 -10.97 -2.364 -0.151 -3.453
P ) (0.30) (0.55) (0.00) (0.00) (0.48) (0.00) (0.21) (0.94) (0.07)
*kk * )k *kk *
)
[ 3-3-2-3 ]
( 150, 111, R"2=0.977)
LNG ( ) LNG
0.007 0.003 0.002 0.007 0010 0.013 -0.000 0.002 0.000
(p (0.25) (052) (0.70) (0.31) (0.06) (0.00) (0.72) (0.03) (0.91)
* *kk *%*
ci/ c0( )
8641 3672 53.65 1545 -2503 -70.26 -4.025 -21.04 -32.01 38.48
(p (0.74) (0.01) (0.41) (0.69) (0.25) (0.17) (0.72) (0.27) (0.27) (0.28)
* %k
cpjl/
-8.749 4457 -76.06 -40.81 4.667 -38.92 -6.147 -0.444 -1584 1584
(p (0.39) (0.75) (0.00) (0.01) (0.68) (0.01) (0.57) (0.96) (0.89) (0.87)
**k%* * %% *%
cpj2/
2965 -30.11 -91.72 -2.927 -5.651 -11.04 -7.713 -0.242 -11.76 -2.557
(p (0.80) (0.01) (0.00) (0.86) (0.63) (0.45) (0.50) (0.98) (0.31) (0.82)

**

**k*x
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(©)

3-3-2-4. ]
( 135, 104, R"2=0.962)
PWR BWR
0.022 -0.007 0.019 0.022
(p (0.00) (0.44) (0.00) (0.02)
**k* *kx *%*
cj/ 0( )
-7491 -6.314 7719 1187 -1740 21.00 -4.454 -4.788 23.06
(p (0.74) (0.83) (0.29) (0.72) (0.56) (0.62) (0.88) (0.81) (0.42)
cpjl/
-4172 6.773 7.304 6.185 4.009 9539 -3.184 6.632 -4.148
(p (0.81) (0.69) (0.77) (0.71) (0.81) (0.58) (0.85) (0.70) (0.84)
cpj2/
-1.380 0.130 15.08 -8.789 0.992 18.99 6.752 -6.419 16.45
(p (0.94) (0.99) (0.42) (0.64) (0.96) (0.31) (0.72) (0.73) (0.38)
[ 3-3-2-5. ]
( 150, 116, R"2=0.998)
0.008 0.006 0.024 0.004
(p (0.00) (0.10) (0.00) (0.50)
*k*k *k*k
ci/ cO( )
4010 -56.12 -101.8 -4995 5593 -64.16 18.18 63.68 88.06 -92.28
(p (0.35) (0.00) (0.00) (0.00) (0.00) (0.00) (0.00) (0.00) (0.00) (0.00)
**k*k *k*k **kx **k*k *k*k **k*k **k*k *kx **k*k
cpjl/
-3.010 -5.388 -10.32 -2.467 -1.743 1.797 -7.976 6.708 -9.625 -1.300
(p (0.37) (0.17) (0.07) (0.48) (0.60) (0.60) (0.04) (0.04) (0.01) (0.69)
* ** ** **
cpj2/
-0.021 -7.335 -26.14 6.564 0.089 1471 -3.330 -1.281 -3.902 -0.978
(p (1.00) (0.06) (0.00) (0.08) (0.98) (0.00) (0.38) (0.73) (0.29) (0.79)
* *k*k * *k*k
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[ 3-3-2-6. ]
( 150, 118, R"2=0.992)

0.001 0.000
(0.00) (0.32)

*k*x

cj/ c0( )

7087 5605 -1201 -1624 1598 -19.47 3635 3280 5.148 -5.661
(0.01) (0.00) (0.22) (0.00) (0.54) (0.00) (0.06) (0.23) (0.11) (0.08)
** * *

**k*x *k*k *k*k

cpjl/

-0020 -2.720 1569 -8.357 -3.027 -4.949 -3.652 -1.375 -5737 -0.693
(0.99) (0.26) (0.58) (0.00) (0.20) (0.05) (0.12) (0.55) (0.02) (0.74)
* **

*k*k

cpj2/

-1433 -1509 -26.96 -8.434 -1.151 -7.515 -3.610 1.099 -4.554 -0.640
(058) (0.57) (0.00) (0.00) (0.66) (0.01) (0.17) (0.67) (0.08) (0.81)
**k* ** *

**k*

[ 3-3-2-7. ]
( 150, 116, R"2=0.994)

0001 0003 -0.001 0.003
(0.00) (0.00) (0.54) (0.63)

*k*k **k*

cj/ c0( )

2122 -2428 -180.9 3538 3235 16274 191.8 2901 387.1 -409.7
(0.00) (0.00) (0.00) (0.03) (0.00) (0.00) (0.00) (0.00) (0.00) (0.00)

*k*k **k*x **k*x ** **k*x **k* *kk **k*x **k*x **k*x

cpjl/

-5222 -5302 -2521 -21.13 -2.853 -17.00 -7.126 -11.75 -22.99 -1.426
(0.30) (0.34) (0.00) (0.01) (0.56) (0.00) (0.16) (0.02) (0.00) (0.77)

**k%x *k*k *k*x ** *k*k

cpj2/

-0997 -7.649 -41.47 -1538 -2.249 -2545 -12.87 2.751 -19.70 -0.823
(0.86) (0.18) (0.00) (0.01) (0.68) (0.00) (0.02) (0.62) (0.00) (0.88)
**k* **

**k* **k*x *k*x
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(©)

3-3-2-8. ]
( 150, 118, R"2=0.997)
0.001 0.000
(p (0.00) (0.02)
**k* **
ci/ c0( )
0.730 4529 -5.147 -29.27 -8.237 -22.89 -10.75 -0.071 -3.604 3.566
(p (0.73) (0.00) (0.51) (0.00) (0.00) (0.00) (0.00) (0.97) (0.19) (0.21)
**k*k *kx *%* **kx **k*k
cpjl/
-0.744 -5.060 -4.978 -1.237 0541 7.298 -2.301 1.207 -1590 -0.718
(p (0.66) (0.00) (0.02) (0.48) (0.75) (0.00) (0.17) (0.47) (0.36) (0.67)
**kk ** *kxx
cpj2/
0.650 -7.761 1130 1457 1897 6.115 0447 -0573 4.286 0.538
(p (0.73) (0.00) (0.00) (0.44) (0.31) (0.00) (0.81) (0.76) (0.02) (0.77)
**kk *kx *kx **
3-3-2-9. ]
( 150, 118, R"2=0.986)
0.002 0.001
(p (0.00) (0.41)
**k*
ci/ cO( )
2394 1735 -161.1 -49.21 20.64 -5450 4918 26.74 23.14 -26.66
(p (0.05) (0.02) (0.00) (0.00) (0.09) (0.00) (0.54) (0.03) (0.14) (0.10)
* ** *kx **kx * **kx ** *
cpjl/
-0.221 -13.70 -13.77 1469 2718 3527 5432 -0.134 1754 2192
(p (0.98) (0.17) (0.27) (0.14) (0.78) (0.00) (0.57) (0.99) (0.08) (0.82)
*k*k *
cpj2/
-4326 7.362 -46.10 -12.72 -0.755 -20.22 -5.984 -5.686 -14.73 1.110
(p (0.69) (0.50) (0.00) (0.24) (0.94) (0.06) (0.58) (0.60) (0.17) (0.92)
*

**k*x
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(©)

[ 3-3-3-1. ]
( 150, 119, R"2=0.980)
0.002
P ) (0.00)
**k*
ci/ cO( )
3630 6587 -5456 -60.23 7154 -8854 7844 7575 29.65 -21.13
P ) (0.73) (0.00) (0.15) (0.00) (0.00) (0.00) (0.00) (0.47) (0.03) (0.12)
**k*k *k*k **k*k *k*k **k*k *%*
cpjl/
-4.625 -0.368 -12.68 -24.24 -17.13 10.29 -5.022 6.053 -6.774 -5.032
P ) (0.61) (0.97) (0.27) (0.01) (0.06) (0.27) (0.58) (0.50) (0.46) (0.57)
*%* *
cpj2/
5216 -3579 3134 -4712 -4712 86.81 2.002 1245 5017 -2.244
P ) (0.60) (0.72) (0.00) (0.64) (0.64) (0.00) (0.84) (0.22) (0.62) (0.82)
*kx *kx
[ 4-1-1-1. ]
kWh A
Co
)
( )
[ 4-1-1-1. kWh ]
(10 /kWh, 2000 , 2003 )
| || || |
2003kWh kWh kWh 2003kWh kWh
(1995) -667.4 -0.483 -0.800 -290.4 -0.348 -0.831 -1.148
(2000) -879.0 -0.287 -1.054 -261.3 -0.313 -0.600 -1.367
-1546.3 -0.770 -1.853 -551.7 -0.661 -1431 -2.515
)1- kWh (2000 GDP )
(8343 kwhl5 9614 )
2- 90 +/-20
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[ 4-1-2-1. 2003

2003

)

, 2000

(

¥/kwWh 2003

€00c
¢00¢
100¢
000¢
666T
8661
L661
9661
G661
66T
€661
661
1661
0661
6861
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[ 4-2-1-1.2. - /
(kKW)- (kW)
(10 + )
300000 10000000
el “eor
250000 .
—- X N AD DA
aaD
00000 AA s ™ 7000
AA A
150000
a o g K AR
100000 A A AEED 0000
50000
o A S S N N ) Qi
o0 JdJaNNmMtmLON~NO0OOOO dT am
VDD OO OO D oo
o O 53 DD DDOODHIO OO O ga o O
— — A A A A A A AN N N

0.95

*1.1/

0.90

0.85
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[ 4-2-2-1. / ]
/
(1989-2003)
( /715
4.0 0.50
E 15 )
—— 0.40
3.0 ]
0.30
2.0
0.20
1.0
0.10
0.0 0.00
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1-1. "w
w
[ 1_ 1. IIWII ]
4
w=20
| | | I’
00 06 12 18 24
1-2. (
)
"w 1990,1995,200
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0,2003
1990
LNG
1990 LNG
[ 1-1 ]
Ca(w) = ( Cw(w) + Cfi) /7 Gi(w)
Cviw) =3¢ (E* H* w* (( F(t)* j/ & )+ L )* Z (1+r)~")
Cf. = E* P/ tI* = o((1+0)™ )
G(W) = E* H* w |
Caw) =2 ((RO*j/ e )t L )* Z (L)
+ P/t H w) xS (L)
Ca(w) ; i w ( /7kWh)
Cvi(w) i w ( , )X
Cf. ; i ( ) ()
Gi(w) i w (kwh)
w ; (0<w<1)
E ; (kw)
H ; (365.2422day*24hour/  ( )
r ; ( =3.0%( )
i : (MIZKWh:  =36( )
P : i ( /kW) (
F) i t ( /MI)
e ; [ (O<ei<l) ( )
L : i ( /kWh) (
t ; i () ( )
tl ; i () ( )
[ 1-2, 1-3.: 1990-2003 : ¢
MW ¥/kWh /N
6000
5000
4000
3000
——
2000
+
1000 .LgG
0 A
1000 C_'_

2000

-3000

L4000 —!

1990 1992 1994 1996 1998 2000 2002
1991 1993 1995 1997 1999 2001 2003
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1-7. 1990 2003

1-4.

/+/%/+/0/k/* +/A
Q. Q. |
zZ 2

- -

/+/%/+/0/k/* +/A
Q. Q. |
zZ 2

- -

0 4060 o - 060
o - s80| S - 580
o Hoso|| & - 080
4 sr0 420
Hoz0 4020
4590 - 990
- 090 - 090
- as0 - 850
- 050 8 - 050
4570 m\ - V0
4 oo - oro
4 se0 - se0
- oc0 - 0€0
- szo 4 sz0
4 oz0 4 0z0
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2o o o o o o © 9 9 o 2o o 9 © © © o o © 9o ©°
>3 8 R &8 9 g ® @ ¥« >3 8§ 8 8 8 & 8§ g ® @
NSENDINONOSNUNK ~d
N ]
= H060|| © - 060
S 4 s80|| 8 - 980
o P Hoso0|| & - 080
S 4 sr0 H{sr0
Horo Hoz0
4590 - 990
- 090 4090
& % - ss0 - ss0
é « - 050 - 050
& 4 svo - sro
& A 4 oro 4 ovo
& - se0 4 se0
<« - oe0 Hogo
% 4 szo 4 szo
- 0z0 - 0z0
< =
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>3 8§ R ¥ ¢ & 8§ g ® @¥vw >3 8 8 ¥ 8§ & g ® «@¥

2-1.

Cmi
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[ 12 ]
Cmi(w,t) = Cv(wt) /7 Gi(w)
= d (Cviw) + Cf. )/dw * dw/dG:
Cvi(w,t) = E* H* w* ( R()* j/ e )+ L)
Gi (w) = E* H* w
dCvi(w)/dw = E* H* (( R(t)* j/ e )+ L)
dw/dGi = 1/(E*H)
Cmiwit) = d (Cv(w) + Cfi. )/dw * dw/dGi
= (FR@)* j/ e )+ L
Cmi(t) = (R{)* j/ e )+ L
Cmit) ; t i ( /7kwh)
] ; (MJ/KWh: =3.6( )
Fi(t) ; [ ( /M) ( )
e : i (O<ei<l) ( )
Li ; [ ( /7kwh) ( )
1989-2003 ( )
[ 1-1 ]
LNG
( /KW) 459 206 241 153 227 99 287 327
( /KW) 12 12 5 5 13 13 - 12
(HHV) 0.35 0.35 0.40 0.40 0.45 0.45 0.38 0.65
( /MJ) -- -- 0159 0159 0549 0549 0585  0.000
( /7kwh) 1.90 1.90 1.16 1.16 0294 0294 216 0.060
() 16.0 16.0 15.0 15.0 15.0 15.0 15.0 40.0
() 60.0 60.0 50.0 50.0 50.0 50.0 50.0 60.0
0.045 0.045 0070 0070 0.030 0030 0050 0.005
GDP
( )
[ 12 ]
( /km) 329 400 39 66.5 13.6 ( /kVA)
( /km) 6 6 0.1 6.1 0.1 ( /kVA)
() 35.0 25.0 30.0 30.0 35.0
() 50.0 50.0 50.0 50.0 50.0
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2]

2-1

1)

PS

= CS+PS = O PePxCxCe

S

PePxPo
PS = O PoPxCxCe

CS =

//M

NN

-

A\

/

2-2

2-2:

S1 =CS1+PS1=0 PePx1Cx1Ce

CSl =

PePx1P1

@
O
-

<
O
1

<
o
—

o
O

"
—
(%]
o

Pe A



P(t)

C(t)

/ '07 Feb R3 / (©)
S = - O Px1PxoCxoCx1 (
Cs = - O P1Px1PxoPo (
PS = (O P1Px1Cx1Ce -0 PoPxoCxoCe) (
1@ )
1
1)
2)
( ) S(t) CS(t)  PS(t)
X(t) 1 (t-1)
( )
(= )
2-3
[ 2-3
A .St
POXY) o _pwe=="""
Py | S S0
IR (P(t-11X(t-1)
Pt-1) |-t ~ D) ()
Co(t-1) ' Co(t)
C1(t)
C1(t)
0 X(t) X(t-1)
S(t) = - (X(t-1) - X(1) * ((P(t) - CL(t)) + (P(t-1) - CO(t-1))) * 1/2
+ (CO(t-1) - CI(t)) * (X(t) + X(t-1)) * 1/2
CS(t) = (P(t) - P(t-1)) * (X(t) + X(t-1)) * 1/2
PS(t) = S(t) - CS(t)
) 1), 2)

(= (CO(L))-CO(t-1))*(X(t)+X(t-1))*1/2)
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[ 2-3A: ]

P(Y)

P(t-1)

-
|,

co(t-1) |---------------

-
-
-
-
="
-
-
e =

Cl(t) '"'""::::::
------ (COX(®)

v

0 X(t) X(t-1) e

S(t) = - (X(t-1) - X(V) * ((P(X) - CL(Y) + (P(t-1) - CO(t-1))) * 1/2 (
+ (CO(t-1) - C1(t) * (X(Y) + X(t-1)) * 1/2 (
( ( €01 -CO(t-1) ) * ( X(t) + X(t-1) ) *1/2)
€o(®)
[ 2-3B ]
A Lot
POX®) .=
P(t) > SO
( r i\\(ﬁ(t_—_l_)){(t—l))
P(t-1) DO )
CO(t-1) |--=-----=--=-- beosoos i Aee co(t)
-------------------- wA=mTT T H(C(t-1) X(E-1))
5 B c1(t)
C1(t) TTTTTTTTIIIiE i'( ------
------- (COX()
0 X(®) X(t-1)
CS(t) = (P(t) - P(t-1)) * (X(t) + X(t-1)) * 1/2
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2003

0.5

X(t)

)

1989

)]

)]

(1989-1996

+ 9813.9(+ 6.88%)
- 24883(- 1.74%)

+ 5831.1(+10.01%)
+ 3596.6(+ 6.17%)
+ 2234.5(+ 3.83%)

+ 2927.6(+ 3.47%)
+ 7650.4(+ 9.06%)
- 4722.8(- 5.59%)

),1997
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(1997-2003

1990
1990
(1989 1996
2-1.
54
7 1
[ 2-1
(2000 )
1989-1996 1997-2003
( (
+ 73256(+ 513%)  +15213.6(+10.66%)

9951.1(+ 6.97%)
5262.5(+ 3.69%)

6476.5(+11.11%)

+ 2898.5(+ 4.97%)
+ 3578.0(+ 6.14%)

+ 9740.9(+11.54%)
+ 8056.4(+ 9.54%)
+ 1684.5(+ 2.00%)

)

)
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[ 2-6 1
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